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/I
E(k):_kabs
R 2m
=12 Blochd);’}%ﬁ: kgioen
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1
Kk, = 1/2 >
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free electron band.py

Si @ Bravaistf§FDkmIzxLTFOvE
a =5.4064 A
m* = 1.0m,

W: (120 1)

L: (121/2172)

r-@© 00

X: (0 0 1)

W: (12 0 1)

K: (3/4 0 3/4)

E (eV)

;

s,
pT
L3

o
o
Lyos”
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free electron band.py

a =5.4064 # angstrom, lattice parameter

H & F DmetricsT 5T HE
rg = np.zeros([3, 3])
rg[0][0]=2.0 *pi/a
rg[1][1] = rg[0][0]
rg[2][2] = rg[0][0]

# I\ REEEZ T OV Bk s O ELH:
# [kx, ky, kz, kiR 44 F}]
Klist = [
(0.5, 0.0, 1.0, "W"]
0.5, 05,05, "L"]
.[0.0, 0.0,0.0, "$¥Gamma$"]
10,0, 0.0, 1.0, "X"]
0.5, 0.0,1.0, "W"]
.[0.75,0.0,0.75, "K"]
]

# TOYhT B\ REEEK) Dk m D HEEL

nk =101

L: BERHEF/ NV F

from pprint import pprint #') ARZERFZ L TH 75

# Ehkl(k)Z &t HE 9 ShkIEi B
hrange = [-3, 3]
krange = [-3, 3]
Irange = [-3, 3]

# 7O0vhg BIRILF—EEH
Erange =[0.0, 10.0] #eV

# AR F DmetrixM b, 2R Dk REIDIEREZETE
def cal kdistance(rg, kO, k1):

dkx = k1[0] - kO[0]

dky =kI[1] - kO[1]

dkz = k1[2] - kO[2]

2 =1g[0][0] * dkx*dkx +rg[1][1] * dky*dky +
rg[2][2] * dkz*dkz

2 +=2.0 * (rg[0][1] * dkx*dky + rg[1][2] *
dky*dkz + rg[2][0] * dky*dkx)

return sqrt(r2)
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free electron band.py

HkREGATHABTOIRF—ZEE kA0 YRNIKIEEES5Z . Ehkl()EEHE

def cal_E(k, Ghkl): def get cal Elist(xkvec, hrange, krange, lrange):

global rg yE =]

for 1 in range(len(xkvec)):

kabs2 =rg[0][0] * (k[0] + GhkI[0])**2 kx = xkvec[i][0]

kabs2 +=rg[1][1] * (k[1] + GhkI[1])**2 ky = xkvec[i][1]

kabs2 +=rg[2][2] * (k[2] + GhkI[2])**2 kz = xkvec[i][2]

Elist =[]
return KE * kabs2 # in eV for ih in range(hrange[0], hrange[1]+1):
for ik in range(krange[0], krange[1]+1):

# 7Oy 3 Bkm) A+ klistek DR nk M5, for il in range(Irange[0], lIrange[1]+1):
# IRk R ERMNFRRIZESH LI, E = cal E([kx, ky, kz], [ih, ik, il])
#ETE T HkREEFIR AR Elist,ap})end(E)
#NURBETOYNIBELGYAIRY
def get cal klist(klist, nk): yE.append(Elist)

return yE
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free electron band.py

#I\UFEBEZTOVR
def plot_band(axis, xk, yE, Erange, ktotallist,
ktotal namelist):
# RNERH LRHITH
axis.set xlim([min(xk), max(xk)])
axis.set_ylim(Erange)

#I\URHEBEZTOVR
axis.plot(xk, yE, linestyle = 'none’,
marker ='0', markerfacecolor = 'none',
markeredgecolor = 'black’,
markeredgewidth = 0.5, markersize = 2.0)

#TR. BZIRR DOtz 51<
for 1 in range(1, len(ktotallist)):
axis.plot([ktotallist[i-1], ktotallist[i-1]], Erange,
linestyle ="'-', color = 'black’, linewidth =
0.5)

L: BERHEF/ NV F

#kEAD BREYICkKRDBFZERTIT S
# TS ITRM—DTHNIL plt.xtics)TEHETES
# axis|Z¥ LTI, .setpTattribute = EHEEZTMRZ S
HEMNHLHHLL
plt.setp(axis, xticks = ktotallist, xticklabels =
ktotal namelist)
axis.set xlabel("k", fontsize = fontsize)
axis.set_ylabel("E (eV)", fontsize = fontsize)
axis.tick params(labelsize = fontsize)
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VASP, PBE96, Conventional cel HHRHEFETI
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¢ (r) = exp(ik l‘)z Crthyg (1) Uy (1) = eXp[ithl -l‘]

B G, DFEmREIIEFRAOE#OTEEEER:
IARTOD hkl [TDONWTFIZENIL., FELRIZIELWLVEIZES
= REDHETI G, | <G, . ODEETELT S

H11 _ESll H12 _ES12 Hln _ESIn
H21 _ES21 sz _ESss H2n _ES2n ~-0
Hnl_ESnl HnZ_ESn2 Hnn_ESnn

2
<uh'k'l"H‘uhkl> = je_i(kJrGh"‘"' Jr {— ;l_m VvV + V(l')}ei(k“LGh“ " dr

h’ x
— 5hkl,h'k',l' 2_k2 +V (thl — Gh'k'l')
m

EEOHEDIZEAENRTUURILOT— ) T EH
=> GPUTEZRERILNES
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http://conf.msl.titech.ac.jp/jsap-crystal/
THEREICKS—XRIT/NVRETE pwldpy

Usage: python pwld.py

python pwld.py (ft a na pottype bwidth bpot)

python pwld.py (band a na pottype bwidth bpot nG kmin kmax nk)

python pwld.py (wf a na pottype bwidth bpot nG kw iLevel xwmin xwmax nxw)

pottype: rect/gauss

E 47451 python pwld.py ft 5.4064 64 rect 0.5 10.0
RTUIvILDT—) TEBERT
T TELS.4064A BEIHEF% 20= 645 E| (FFTD 1=8hnald2n)
MERARTUvIL 0.5 AR, 10.0 VRS

%= 1745: python pwld.py band 5.4064 64 rect 0.5 10.0 3 -0.5 0.5 21
NORBEZEHE, #iE, 28I, RToovILIEEERL
NUNEEZT BZERRNEBEER [ ] (BE—TIILT2T—2) T21IREILTERSR

ZE17H: python pwld.py wf 5.4064 64 rect 0.5 10.03 0.0 0 0.0 16.2192 101
EREBERERT. BE. 7B RToovILIE EERLC
BEARIRILETRISELRZRANS,
k=0.0TR), EEHED O FHEHDEMDKEFEHZ.
0.0 ~16.2192 T‘/O“T’—Awﬁﬁlﬂl’élmh\%‘lbf%ﬁ? Energy levels:

GIE: EERIETRILE—IEcY—rLTVELpT, U 0024459¢eV

i - 1 6.39666 ¢V
AN ) — TTCEN = EE
) — )L FIDEnergy levels: CEML D HFSEHE 2 6.08362 eV


http://conf.msl.titech.ac.jp/jsap-crystal/
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wld.py

Si DIEFEE a =54064 A m*=1.0m,
RToTvwIL Vix): EEEE  05A [EESX100eV

th 1d.py ft 5.4064 64 rect 0.510.0 9 -0.5 0.5 21 KT S2l0)
python pwld.py ft 5. rect 0.510.0 9 -0.5 0. J—1) TEHER S
Lo EIER 64
10 1 . =
0.8 -
8 - 0.6 -
0.4 - f
- B ) y
g %L 0.2 .
& 4- E 00 1
—0.2 -
2 i
—0.4 1 real
imaginary
0 - 1 | | —0.6 + absolute
0 5 10 15 -1 0 1

X (A) 1/x, normalized (1/A)
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wld.py

Si DIEFEE a =54064 A m*=1.0m,

= P e = P
BEE':“]EE 0.5 A BEE': =] é 10.0eV python pwld.py band 5.4064 64 rect 0.5 10.0 9 -0.5 0.5 21

python pwid.py wf 5.4064 64 rect 0.5 10.0 9 0.0 2 0.0 17 501 10 o eaim s
S B BEPANA - § -
k=0.0, 1% B DL (E=0.608¢V)D K BRI %R
CER: BT RLF—IRISY—FLTOELD T, - EEH9
a2 — )L FIDEnergy levels: CEGL DB S HTER) “ :
Energy levels: — °] ’ V(X)

0 83.3381eV La{—— Wlreal) 10 :
1 473631eV [ Yimeainan) W r
2 0.608457 eV e
3 691001ev ] . 6
4 22477eV
5 833212¢V 1o <
6 472599 eV 2
7 20.7386 ¢V 6
8 5.18836eV  °] 4

0.6 L4 . * " =

- BHEF
0.4 1 5 V(X) - O
L2
0.2 4
0.0 0 0 T
T . : ; i i ‘ . —-0.4 -0.2 0.0 0.2 0.4
] 2 4 6 8 10 12 14 16 k(m’a)

x (A)
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